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Instruction : First 15 minutes are allotted
for the candidates to read the
question paper.
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Note: 1} All questions are compulsory.

Marks allotted to each question
are given in the margin.
_ii) Give relevant answers to the

questions.

iii) In numerical questions, give all
the steps of calculation.

iv)] Give chemical equations
wherever necessary. —-- -
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i) © 0-019

iii) 00019 ,
iv) 0-00019. 1
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= ccls] =l T m AH = - 940 keal
21 CO,(g) T Tove S5 ¥
i) - 490 keal
ii) -940 keal »
iii) - 1880 kcal _
iv) + 940 keal. 1
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s) EI@-#M
"/ 9= HCI + et ZnCl,,
i) PdBaSO, -
iii) &7 HCl + F=ieT 2nCl,,

iv) ¥ W WIS TE ]

1.  There are four alternatives for each part
of this question. Select the correct
alternative and write it in the answer-
book :

a) Mole fraction of 1‘8 gram giucose
in 90 gram water is

iy 019

i) 0019

iiij 0-0019

iv) 0-00019. . 1
b) The wvalue of AH for the

combustion of C(s) is — 94-0 kcal.

The heat of formation of CO,(g)is

i) —490 kcal

ii) —94-0 kcal
iii) - 1880 kcal
iv) +940 kcal. - _ 1
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Chlorcform is slowly oxidised by
air 1in presence of light to form

i)  Phosgene
ii) Formic acid
i} Formyl chloride

iv) Methyl chloride. 1

Formalin is the agueous solution
of

i) Fermaldehyde

1]  Formic ac¢id

1) Fluorescein

iv) Acetaldehyde. 1
Lucas reagent is

i) conc. HCl + Anhydrous ZnCl,,

iy PdBaSO,
iti) - dil. HCI + Anhydrous ZnCl,

w) none of these. 1
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Calculate the molality of 20%
(by weight) potassium carbonate
solution. K=39,C=12,0=16. 1

Complete the reaction :

Rx—KN ;4 H ,p 1
State second law of
thermodynamics. 1
Explain solubility of alcohols in
water. 1-
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3. a)
b)
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d)

4. &)
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~ A solution of glucose containing

045 gram in 250 ml water was
prepared at 0°C. What is its
osmotic pressure ¢

R=0-0821 litre.Atm./degree/mol.1
Complcte the reaction :

............

3 .
- Write a method of manufacture of

polyvinyl chloride (PVC). 1
Write Hess's law of constant heat
summation. https://www.upboardonline.com 1
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The boiling point of pure acetone is
56-38°C. When 0-707 gm of an
organic compound is dissolved in
10 gm of acetone, there is

~ _elevation to 56-88°C in boiling

point. What is the molecular
weight of the: compound ?
Molecular elevation constant (k_)
for acetone  is 16-7°. 2

Explain Saytzeffs - Rule and
Hunsdicker Reaction with the help

of chemical reactions. 1+1
Explain the amphoteric nature of
amino acid. 2

Explain with example the addition

"polymer and write the wuses of
- polythene. 2
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CH,CH,CHBr, ——“ A48
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5. a) Complete the following reaction :

KOH (ag)

CH,CH,CHBr, - »yA—2 4 B
' 2

b) What are hormones ? Describe
their specific biological functions.

_ 2
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c] Complete the following chemical
reaction and wrile the names of A
and B. |
HNO, A

C,H_NH, 2 3 A >
[CI-I:,’CCJD‘}2 CJHE
2

d) Write the chemical formula and
sources of Vitamin Aand ¢ 1+ 1
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Describe with chemical equation the

laboratory method of preparation -of
phenol and write the cquation of
following reactions : -

i). Riemer-Tiemann reaction
i1}  Kolbe reaction. 1+1+1
OR

- What happens when (write anly:

chemical equation only ) —

) Ethyl alcohol reacts with conc.
H,80, atdifferent temperatures ?

i) .Methyl alcohol reacts with acetyl
chloride ? |

1i1)  Ethyl = alcohol is  heated with
bleaching powder ? . 1+ 1+ 1
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1+1+1
Describe with diagram the laboratory
method for the preparation of formic
acid. Write down its chemical equation
of reaction with Fehling solution. Also
write all* equations of the reactions

related to above. 1+1+1
OR -

How will you obtain ? (write only

chemical equation ) -

i) Urotropine (Hexamethylene tetra-
amine ) from formaldehyde
ii)  Acetone from Acetaldehyde
111) Formic acid from Acetic acid.
l1+1+1
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